EXHIBIT D

FOCAL COMMUNICATIONS CORPORATION DISBURSEMENT SCHEDULE JANUARY 7, 2003 THROUGH JULY 1, 2003

OVERNIGHT COURIER/POSTAGE	\$255.68
LONG DISTANCE TELEPHONE & CONFERENCE CALLS	\$10,658.70
DUPLICATING COSTS/THIRD PARTY DUPLICATING COSTS	\$1,861.08
FACSIMILE	\$86.50
MEALS/COMMITTEE MEETING EXPENSES	\$2,441.15
SECRETARIAL OVERTIME	\$320.51
WITNESS FEE	\$45.00
TRANSCRIPT EXPENSES	\$2,554.50
TRAVEL EXPENSES	\$11,661.36
COMPUTERIZED RESEARCH	\$11,348.26
TOTAL	\$41,232.64

EXHIBIT E

FOCAL COMMUNICATIONS CORPORATION SCHEDULE OF HOURS FOR THE PERIOD JANUARY 7, 2003 THROUGH JULY 1, 2003

Name of Professional Person	Position of the Applicant, Number of Years in that Position at Current or Prior Firms, Year of Obtaining License to Practice, Area of Expertise	Total Hours Billed	Hourly Billing Rate	Total Compensation
Robert Johnson	Partner for 6 years; Admitted in 1988; Litigation Department	231.60	\$500	\$115,800.00
Kim Koppersmith	Partner for 11 years; Admitted in 1985; Litigation Department	11.10	\$550	\$6,105.00
Adrienne Scerbak	Partner for 1 year; Admitted in 1993; ERISA Department	7.90	\$435	\$3,436.50
Michael S. Stamer	Partner for 5 years; Admitted in 1989; Financial Restructuring Department	264.40	\$625	\$165,250.00
John Strickland	Partner for 23 years; Admitted in 1974; Corporate Department	229.55	\$600	\$137,730.00
Patrick Cox	Counsel for 2 year; Admitted in 1995; Tax Department	15.90	\$390	\$6,201.00
Jonathan Gold	Counsel for 3 years; Admitted in 1994; Financial Restructuring Department	477.45	\$390	\$186,205.50
Patrick Schmitter	Counsel for 1 year; Admitted in 1997; Litigation Department	145.40	\$390	\$56,706.00
Scott Alberino	Associate for 3 years; Admitted in 2000, Financial Restructuring Department	59.60	\$250	\$14,900.00
Tess Autrey	Associate for 1 year; Admitted in 2002; Litigation Department	16.50	\$225	\$3,712.50
David Berch	Associate for 3 years; Admitted in 2000; Corporate Department	7.50	\$315	\$2,362.50
Angela Ferrante	Associate for 3 years; Admitted in 2001; Financial Restructuring Department	31.30	\$375	\$11,737.50
Allison Hagey	Associate for 1 year; Admitted in 2003; Litigation Department	8.00	\$250	\$2,000.00
Allan Hill	Associate for 2 years; Admitted in 2002; Financial Restructuring Department	274.80	\$325	\$89,310.00
Hyungsoon Kim	Associate for 1 year; Not Yet Admitted; Litigation Department	17.00	\$250	\$4,250.00

Name of Professional Person	Position of the Applicant, Number of Years in that Position at Current or Prior Firms, Year of Obtaining License to Practice, Area of Expertise	Total Hours Billed	Hourly Billing Rate	Total Compensation
Wendy Lau	Associate for 1 year; Not Yet Admitted; Real Estate Department	132.40	\$230	\$30,452.00
Cynthia Fitzpatrick	Legal Assistant for 13 years; Financial Restructuring Department	28.20	\$160	\$4,512.00
Tami Harris	Legal Assistant for 4 years; Financial Restructuring Department	53.50	\$110	\$5,885.50
Christiana Jung	Legal Assistant for 3 years; Financial Restructuring Department	15.70	\$160	\$2,512.00
Peter J. Sprofera	Legal Assistant for 27 years; Financial Restructuring Department	60.00	\$175	\$10,500.00
Attorneys and Legal Assistants Billing Less Than Five Hours		14.60	\$100 - \$ 525	\$3,843.00

Total Amount of Fees: \$863,411.00 Total Number of Hours: 2,102.40 Blended Hourly Rate: \$410.79